MAT 215 — Linear Aigebra I
Spring 2001 - Exam # 2
Buration: 1 hour .
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1) Let 41N | L
2P

a) Find the cofactor matrix of 4.
b) Find det(A4).
c) Find the inverse of 4. .
' (30 points)

2) Determine the following. " 8 oo
a) If S= {(x, y),’xz +y’ < 1}, is S closed under addition of R*? Why?
b) If S ={{x, »)/ y 2 0}, is S closed under scalar multiplication of R2? Why?
c) ILAP= {a(l, 1, 1)+ ,8(1, 0, O)/a,ﬁ eR}, is Sasubspace of R*? Why?

15 points)
3) Let S={, =(,-1,2)v, =(=1,0,3)v, = (6, ~1,5)v, = (3.-2.2)".

a) Determine whether R’ is spanned by S.
b) Find if possible a subset of S that can serve asa basis :
{20 points)

—
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4y Let A={0 1 1 0O].
e 2 3 3

a) Find a spanning set for the solution space of AV =0.
b) Find a basis for the Null Space of 4.
c) Find the dimension of the Null Space of 4.
(20 pointy)

5) Let B= {u v n} denote a basis tn a 3-cinensional vector g,’JGCg V. shew that fnr
set B' = {u B R AR TEAR It -u} a basis fer V.



